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SI*13:. <OCR*
@ -(kieue*
83 fiVIEi. ~

04 “QIJFiDRUPCLE"

05 fiVIEs
06 "ROTATOR*
07 m tu
8? BDV

89 TONE 9
10 "U==*
it PPOHPT
12 STO 08
13 firRCL X
14 fIVIEW
15 JOKE 9
16 m<"

1? PROMPT
18 Sin 0i
19 ARCL Xx
28 PVIEW
21 TOKE,5
22 -BETS*"
27 pen-~~
24 STO 02
25"fled X
26 CV.IEH
27 TOME 9
28 *BPHI=-
29 PROHPT
30 STO 03
31 fiRCL X
32 fIVtEH
33 CLB

,34 GBV

35+LBL 5
36 8

37 STO 04
38 RCL 80
39 3

49 RCL 00
4 -

42

43 16

4 14.
45 *

46 STO 97
47 BEG

48 RCL 01
49 SIN

50 RCL 02
51 SIN

52 * 7
53 STO 85
54 RCL 91
55 COS

56 RCL 82
57 COS 1
58 t

59 RCu 84
60 CI0 11
6HLBL 12
62 RCL 83
63 +

64 STO 04
65»LBL 11

OBLIQUE
QUFIBPUPOLE
ROTATOR

U=8.5806
1=38.8880
BETS=88,0000
BPHI=0,8588

0.8888
8,8868

0=0580
8.8837

8,1888
-0.8024

8.1588
- 8-01.85

8,2008
-0.8181

0.2508
- 8.8233

8,3888
-8,8258

8,3580
0,4000
-8,0284

8,4580
-8,8174

8,5088
-0 0162

8.5588
-8.0174

8.6888
- 8.8204

0,6500
- 8,8236

0,7088
-0.0258

8,7588
- 8,8233

8.8880
-0.8181

0=8580
-0,8185

8.9880
-0.0024
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64 STO 04
65*LBL 11

66 2
t,7 PT

69 $

76 MB

71 COS

72 RCL @5
73 *

74t

75 Xt2

76
77
78
79 -

80 3

8L *

82 1

83 +

84 PCI 87
85 *

86 RCL 04
87 FS™ 55
88 PR*

89 RUN

90 FS? 55
91 PRK

92 fiBv
93 t\ >y
94 Rt

95 1

96 X=Y?
97 GTO 13
98 RDM

99 GTO 12
100*181 13
10? SEEP
102 END
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